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SIMILARITY

1. AABC-APQR.If A(AABC) = 25, A(APQR) = 16 find

AB: PQ.

A . 25:16

B.4:5

C.16:25


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1zWkdZdRexBa

D.5:4

Answer: D

° Watch Video Solution

2.In AABC and APQR , in a one-to-one correspondance

A.APQR-AABC

B. APQR-ACAB

C. ACBA-APQR


https://dl.doubtnut.com/l/_1zWkdZdRexBa
https://dl.doubtnut.com/l/_fwJj4vdgSV0x

D. ABCA-APQR

Answer: B

° Watch Video Solution

3. If in ADEF and APQR, /D =~ /Q, /E =~ /R, then

which of the following statements is false?

EF DF
APR ~ PO
DE EF
P00 ~ ®’P
DE DF
C. =



https://dl.doubtnut.com/l/_fwJj4vdgSV0x
https://dl.doubtnut.com/l/_WUBgUiOdeL4r

EF DE
"RP QR

Answer:

° Watch Video Solution

4. AABC and ADEF are equilateral triangles,
A(AABC): A(ADEF) = 1:2.
If AB = 4 then what is the length of DE?

D

\

A 2¢/2


https://dl.doubtnut.com/l/_WUBgUiOdeL4r
https://dl.doubtnut.com/l/_964GNFF00BES

B.4

C.8

D. 44/2

Answer:

o Watch Video Solution

5.1In figure, XY | | BC. Which of the following statements is

true


https://dl.doubtnut.com/l/_964GNFF00BES
https://dl.doubtnut.com/l/_YxoZQyyJClf5

X
B
AAB_AX
"AC AY
BAX_AY
"XB  AC
CAX_AY
"YC XB
DAB_AC
"YC XB
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YxoZQyyJClf5
https://dl.doubtnut.com/l/_aU5TEcy1ROFH

6. In the figure, ray QS is the bisector of /ZPQR and

PQ = QR.
Then P—S = s
SR
P
S
. +

Al:1

B.1:2

C.2:1


https://dl.doubtnut.com/l/_aU5TEcy1ROFH

D. cannot be determined

Answer:

° Watch Video Solution

7.1n the figure, AABC~-APQR /R = 30°,then /A = ?
A

A.45°

B.90°

C.30°

D.60°


https://dl.doubtnut.com/l/_aU5TEcy1ROFH
https://dl.doubtnut.com/l/_mZSC0G56ockv

Answer: D

o Watch Video Solution

8. In the figure, seg AB | | seg CD | | seg EF AC = 1.5,

BD = 10,DF = 6then AE = 7

A

10
C D

A. 26

N

B. 22


https://dl.doubtnut.com/l/_mZSC0G56ockv
https://dl.doubtnut.com/l/_gTmmyicfhTwn

C.20

D. 24

Answer:

o Watch Video Solution

1. In the figure, line XY | | side BC. AX =2, XB = 4,

AY = 3and YC = athen thevalueofais ...


https://dl.doubtnut.com/l/_gTmmyicfhTwn
https://dl.doubtnut.com/l/_9oWmUo8ZJgZ7

B

° Watch Video Solution

2. Observe the figure and state whether ray PM bisects

ZQPR or not. Support your answer with a reason.

Q 3.5 ﬁ\].s R



https://dl.doubtnut.com/l/_9oWmUo8ZJgZ7
https://dl.doubtnut.com/l/_36e0MLc7PPZh

o Watch Video Solution

3. APQR-AXYZ, write its corresponding sides in

proportion.

o Watch Video Solution

45° 45°

4.
Observe the figure and state whether AABC is similar to

APQR?If so, by which test ?

o Watch Video Solution



https://dl.doubtnut.com/l/_36e0MLc7PPZh
https://dl.doubtnut.com/l/_e8137uJpVrUt
https://dl.doubtnut.com/l/_YOl7rkQvE2im

5.The ratio of corresponding sides of similar triangles is 3: 5,

then what is the ratio of their areas.

o Watch Video Solution

2 3 2 Mark Each

1. In adjoining figure, PQ | BC, AD | BC then find the

following ratios.

_A(APQB) __ A(APBC)
O 4arse) ) aaaso)
A



https://dl.doubtnut.com/l/_IOjx6uI68dri
https://dl.doubtnut.com/l/_G0AUgDheAhS6

o Watch Video Solution

2. In the figure BC' | AB,AD | AB,BC =4,AD = 8§,

A(AABC)
A(AADB)

then find


https://dl.doubtnut.com/l/_G0AUgDheAhS6
https://dl.doubtnut.com/l/_mzP85nLUR1b1

D

o Watch Video Solution



https://dl.doubtnut.com/l/_mzP85nLUR1b1
https://dl.doubtnut.com/l/_uKT1rwhMvAmg

3. In the figure, if AB||CD||FE then complete the following
activity to find x.
Line AB | | line CD | | line EF

.". by property of three parallel lines and their transveral,

BD AC 8 L

] CE 4 T
S8 xx=4x [


https://dl.doubtnut.com/l/_uKT1rwhMvAmg

o Watch Video Solution

4. In AABC, ray BD bisects ZABC. A — D — C, side

DE | | side BC,A — E — B.


https://dl.doubtnut.com/l/_uKT1rwhMvAmg
https://dl.doubtnut.com/l/_WxUW54Cf9I9F

AB AFE

Prove that, BC = %5
Complete the activity by filling the boxes.
A
E D
In AABC, ray BD is the bisector of ZABC
-AB—D (I) (B le bisector th )
T — y angle bisector theorem
In AABC, seg DE | | side BC
AE  AD (1) O
“EB - DO
A5 [From (I) and (I1)]
ﬁ = ﬁ ....... rom an

o Watch Video Solution



https://dl.doubtnut.com/l/_WxUW54Cf9I9F
https://dl.doubtnut.com/l/_3tg1dsWkeSCh

5. Observe the figure and state whether ray PM bisects

ZQPR or not. Support your answer with a reason.

Q 3.5 1\}\1.5 R

° Watch Video Solution

6. In AMNP,NQ@ is a bisector of ZN. If

MN =5, PN =7, MQ = 2.5, the find QP.


https://dl.doubtnut.com/l/_3tg1dsWkeSCh
https://dl.doubtnut.com/l/_s9ZZGPGXKHVf

(®,

o Watch Video Solution

7.1n the adjoining figure, BP | AC,CQ L AB,A—- P —C,
A — Q — B. Complete the following activity to Prove

AAPB-AAQC.


https://dl.doubtnut.com/l/_s9ZZGPGXKHVf
https://dl.doubtnut.com/l/_SIIBqfNjLiFa

In AAPB and AAQC

/APB = O0° ...(1)

° Watch Video Solution

8. As shown in the figures, two poles of height 8m and 4m are

perpendicular to the groudn. If the length of shadow smaller


https://dl.doubtnut.com/l/_SIIBqfNjLiFa
https://dl.doubtnut.com/l/_GnUCNUQDCgiA

pole due to sunlight is 6 m then long will be the shadow of

the bigger pole of the same time?

° Watch Video Solution

9. ALMN-APQR, 9 x A(APQR) = 16 x A(ALMN). If

QR = 20,then find MN.

o Watch Video Solution



https://dl.doubtnut.com/l/_GnUCNUQDCgiA
https://dl.doubtnut.com/l/_sJVhGEbZferX

10. In the figure, seg AC and seg BD intersect each other in

_ AP  BP
point P and CP ~ DP Prove that AABP-ACDP.

° Watch Video Solution

2 4 3 Mark Each

1. Two triangles are similar. The lengths of the sides of the

smaller triangle are 4cm, 5¢cm and 6ecm respectively. The
perimeter of the larger triangle is 90cm then find the length

of sides of larger triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_YgXjsbALqgp7
https://dl.doubtnut.com/l/_zcwoq3N836eG

2. In AABC, seg BD bisects ZABC. If AB = z,

BC =z +5,AD =z — 2, DC = x + 2. Find the value of z.

o Watch Video Solution

3.In the figure X is any point in the interior of triangle. Point X

is joined to vertices of triangle. Seg PQ | | set DE, set QR | |


https://dl.doubtnut.com/l/_KLP05gdS2sf9
https://dl.doubtnut.com/l/_gO1NVrkcpauh

set EF. Fill in the blanks to prove that set PR | | seg DF.

D

o Watch Video Solution

4, In
AABC,AP 1 BC,BQ L. AC.B—P—-C,A—-Q —C,

then prove that ACPA-ACQB.


https://dl.doubtnut.com/l/_gO1NVrkcpauh
https://dl.doubtnut.com/l/_Il95cMJpt9Gb

If AP = 7, BQ = 8, BC = 12 then find AC.

A
Q

o Watch Video Solution

5. In the figure in AABC, point D on side BC is such that

/BAC = LADC.


https://dl.doubtnut.com/l/_Il95cMJpt9Gb
https://dl.doubtnut.com/l/_cFKpmsghmAjv

Prove that CA? = CB x CD.

A |

B D C

° Watch Video Solution

6. In the figure, PS =3, SQ =6, QR =5, PT =z and

TR = y. Give any two pairs of values of x and y such that line


https://dl.doubtnut.com/l/_cFKpmsghmAjv
https://dl.doubtnut.com/l/_xzrolKfvGJDg

ST | | side QR.

Q 5

o Watch Video Solution



https://dl.doubtnut.com/l/_xzrolKfvGJDg
https://dl.doubtnut.com/l/_2g1AB06jQLzw

7.In the adjoining figure,seg XY | | seg AC,IF 3AX = 2BX

and XY = 9then find the length of AC.

A

o Watch Video Solution

8. In trapezium PQRS, side PQ | | side SR, AR = 5AP,
AS = 5AQ then prove that SR = 5P(Q by completing the

following activity.


https://dl.doubtnut.com/l/_2g1AB06jQLzw
https://dl.doubtnut.com/l/_7OfN0GllBZoB

S R

In APQA and ARSA,
/ZPQA ~ ZRSA...()
/PAQ =~ ZRAS..(O)

S APQA-ARSA ..(0)

PQ O

SR AR

(1)

Substituting AR = 5AP in (1)
PQ O

"SR~ BAP
PQ O

"SR B

. SR = 5PQ

| o Watch Video Solution


https://dl.doubtnut.com/l/_7OfN0GllBZoB

1. In APQR, seg XY || side QR. M and N are the
midpoints of seg PY and side PR respectively,
P—-M-Y—-N-R.

Prove that (i) APXM-APQN

(i1) seg XM | | seg QN.



https://dl.doubtnut.com/l/_7OfN0GllBZoB
https://dl.doubtnut.com/l/_KUhs6M7kG0Yd

I ™ vvaldl vidco >50i1ution ]

2. In the figure, seg DE || side AB. DC = 2BD,

A(ACDE) = 20cm?®.Find A(J ABDE).
A

E

B D C

° Watch Video Solution

3. Through the mid-point M of the side CD of a parallelogram

ABCD, the line BM is drawn, intersecting AC in L and AD


https://dl.doubtnut.com/l/_KUhs6M7kG0Yd
https://dl.doubtnut.com/l/_dbVebUKe79gy
https://dl.doubtnut.com/l/_t34YibgLIzcE

produced in El. Prove that EL= 2BL

° Watch Video Solution

Assignment 2 1

1. The ratio of corresponding sides of similar triangles is 5: 7,

then what is the ratio of their areas?

A.25:49

B.49:25


https://dl.doubtnut.com/l/_t34YibgLIzcE
https://dl.doubtnut.com/l/_SRsVmlRJWen1

C.5:7

D.7:5

Answer:

o Watch Video Solution

2. A verticl stick 40m longs casts a shadow 20m long on the

ground. At the same time, a tower of height.... Casts a

shadow 50m long on the ground.

A. 100m

B. 50m

C.2bm

D. 150m


https://dl.doubtnut.com/l/_SRsVmlRJWen1
https://dl.doubtnut.com/l/_YpAN7E2mP1eC

Answer:

o Watch Video Solution

3. The areas of two similar triangles are 36cm? and 121cm?.
The ratio of their corresponding sides are

A.36:121

B.121:36

C.6:11

D.11:6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YpAN7E2mP1eC
https://dl.doubtnut.com/l/_V7nu7A8zshPk
https://dl.doubtnut.com/l/_Mfz8cLU4vOaO

4.f AABC~-ADFEF and ZA = 45°, /FE = 87°,then ZC =

A.45°

B.87°

C.48°

D. cannot be determined

Answer:

o Watch Video Solution

5.In a ABC , AD is the bisector of /ZBAC . If AB = 8m ,
BD = 6em and DC = 3em . Find AC 4em (b) 6em (c) 3em

(d) 8&m


https://dl.doubtnut.com/l/_Mfz8cLU4vOaO
https://dl.doubtnut.com/l/_tCPKdux0jWY3

A. 4dem

B.3em

C.6cm

D. 8&m

Answer:

° Watch Video Solution

6. In the figure

/AED = /ABC,AD = 3, DB = 5, AE = 4 then length


https://dl.doubtnut.com/l/_tCPKdux0jWY3
https://dl.doubtnut.com/l/_DCUqsbitFbQm

of ACis ..

A2

B.6

C.8

D. 12


https://dl.doubtnut.com/l/_DCUqsbitFbQm

Answer:

o Watch Video Solution

7. The areas of two similar triangles are 9cm? and 16¢m?. The
ratio of their corresponding heights is

A.9:16

B.3:4

C.4:3

D.16:9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DCUqsbitFbQm
https://dl.doubtnut.com/l/_I94L7UJ669G4
https://dl.doubtnut.com/l/_zQssXSqk4CRJ

8. The corresponding medians of two similar triangles are in

the ratio 4:7 . Let their respective areas be A; and

AQ'A1!A2: ...... .

A.16:49

B.4:7

C.7:4

D.49:16

Answer:

o Watch Video Solution

Assignment 2 2



https://dl.doubtnut.com/l/_zQssXSqk4CRJ

1. In the figure, line PQ | | side BC then write the ratio in
which sides AB and AC are divided proportionately. Also

give your reason.

A

B C

o Watch Video Solution



https://dl.doubtnut.com/l/_Wo2OFagoaluv

2.1n the figure, line AX | | line BY | | line CZ then complete
the ratio
AB O

U YZ°

A

//
\X\
; \/ v

o Watch Video Solution



https://dl.doubtnut.com/l/_MqsKKHBtH8bQ

3. In the figure, ray QS bisects /PQR. PQ =7, QR =5,

SR = 2.5and PS = a then the valueof a is ..........

|

p

Q

o Watch Video Solution



https://dl.doubtnut.com/l/_K3ob39ra9q88

4.1f AABC~ADEF and AB: PQ) = 5: 7 then write the ratio

of A(AABC): A(APQR).

o Watch Video Solution

5. In the figure, BC' = 7 and BD = 3 then write the ratio of

A(AADC): A(AABC).
A

- 7 —>

o Watch Video Solution



https://dl.doubtnut.com/l/_002n2mNyNhHL
https://dl.doubtnut.com/l/_XmubZB4ZjTW7

Assignment 2 3

1. Observe the figure and complete the following activity.

In AABC and AEDC,

/ABC =~ /....(Each measures 46°)

.. AABC-AEDC....[ test for similarity]
A

C
B E

o Watch Video Solution



https://dl.doubtnut.com/l/_S54dS82qazHb
https://dl.doubtnut.com/l/_L8TgDLtp68SE

2.In ADEF, line PQ | | side EF, if DP = 2.4, PE = 7.2,

D@ = 1.8 then find QF.

E F

° Watch Video Solution

3.In APQR, ray PS is the bisector of ZQPR,Q — S — R.If

Qs = 4.8cm, SR = 3.6cm, find PQ): PR.


https://dl.doubtnut.com/l/_L8TgDLtp68SE
https://dl.doubtnut.com/l/_lhEQCgVekt1A

4.8 cm

3.6 cm

o Watch Video Solution

4. AABC-APQR. If AB=4em, PQ =6em  and

QR = 9cm. Find BC.

A.5cm

B.6cm


https://dl.doubtnut.com/l/_lhEQCgVekt1A
https://dl.doubtnut.com/l/_nPCJlUtOWpf7

C.7cm

D.8cm

Answer: option 2

o Watch Video Solution

5. In the figure, AABC-AEDC,AC =15, BC = 10,

CE = 12.Find z


https://dl.doubtnut.com/l/_nPCJlUtOWpf7
https://dl.doubtnut.com/l/_NEbrY7PPeBzZ

o Watch Video Solution

6. AABC-APQR. If AB:PQ=4:5  find

A(AABC): A(APQR).

o Watch Video Solution



https://dl.doubtnut.com/l/_NEbrY7PPeBzZ
https://dl.doubtnut.com/l/_w9PhI5lmBEcE

7. AABC-DEF.A(AABC): A(ADEF) = 49: 100. Find the

ratio of AB: DE.

o Watch Video Solution

8. In order to prove, 'The bisector of an angle of a triangle
divides the side opposite to the angle in the ratio of the
remaining sides.

(7) Draw a neat labelled figure.

(47) Write 'Given' and 'To prove'.

o Watch Video Solution

9.In APQR, PM = 15, MQ = 10, PN = 12 and NR = 8.

State whether line NM is parallel to side RQ or not. Give


https://dl.doubtnut.com/l/_0jETXZa1a0zK
https://dl.doubtnut.com/l/_fIZ14j9aoSjc
https://dl.doubtnut.com/l/_d1r9QfgA1Mhr

reason.

R Q

° Watch Video Solution

10. Are the triangles in the following figures similar . If yes, by

which test?


https://dl.doubtnut.com/l/_d1r9QfgA1Mhr
https://dl.doubtnut.com/l/_gD768XIKnIc4

o Watch Video Solution

Assignment 2 4

1. In the figure, seg DE | | side AC and seg EF | | side BA

AD AF
then prove that X =1
DB FC



https://dl.doubtnut.com/l/_gD768XIKnIc4
https://dl.doubtnut.com/l/_anhmDnWs92Fx

° Watch Video Solution

2.In trapezium PQRSside PQ | | sideSR. Diagonals PR and
QS intersect each other at point M. PQ) = 2RS. Prove that

PM = 2RM and QM = 25M.

° Watch Video Solution



https://dl.doubtnut.com/l/_anhmDnWs92Fx
https://dl.doubtnut.com/l/_kfoo9D9EuWjT

3. In the adjoining figure, seg PA , seg QB, seg RC and seg SD
are perpendicular to line AD. AB = 60, BC = 70, CD = 80, PS =

280, then find PQ, OR and RS.

\ 1

P A

° Watch Video Solution



https://dl.doubtnut.com/l/_a8EQOdMNQEJ6

4. In the figure, seg AB =~ seg AC, ray CE bisects ZACB,

ray BD bisects ZABC. Prove that ray ED | | side BC.

A

B C

o Watch Video Solution



https://dl.doubtnut.com/l/_2BSspcaFZZJP

5. In the figure, AABC~-AMNO, D is the midpoint of side
AC and P is the midpoint of side MO.

Prove: (i) AABD-AMNP

_BD  AB
@) Np = N

(#4t) Write your conclusion of the result obtained in (7).

A

D

B C 0

° Watch Video Solution



https://dl.doubtnut.com/l/_ePHkBJuojBX9
https://dl.doubtnut.com/l/_dwG0fpLefb3j

6. [1 ABCD is a parallelogram. Point E is on side BC. Line
DE intersects ray AB in point T. Prove that

DE x BE =CFE x TE.

o Watch Video Solution

M ’ R
7 Q

In APQR seg PM is a median. Angle bisectors of ZPM() and
ZPMR interesect side PQ and side PR in points X and Y
respectively. Prove that XY | | QR.

Complete the proof byfilling in the boxes:

.y


https://dl.doubtnut.com/l/_dwG0fpLefb3j
https://dl.doubtnut.com/l/_vnQwcnwHNEc7

| ¥ vvatlch video o>oilution |

8. Prove that , "If a line parallel to a side of a triangle
intersects the remaining sides in two distinct points then the

line divides the sides in the same proportion".

o Watch Video Solution

Assignment 2 5

1.In the figure, seg PQ | | side BC and seg QR | | side AB.

A
1) What Id b @ ?
(47) What would be 7B
(i) 1s B2 = DA,

PA RC


https://dl.doubtnut.com/l/_vnQwcnwHNEc7
https://dl.doubtnut.com/l/_IHod9TDijt9U
https://dl.doubtnut.com/l/_gwF65JkoYRQ0

B R C

o Watch Video Solution

2.In O ABCD ,side BC | | side AD. Digonals AC and BD
1
intersect each other at P. If AP = EAC then prove

1
DP = EBP'

o Watch Video Solution



https://dl.doubtnut.com/l/_gwF65JkoYRQ0
https://dl.doubtnut.com/l/_0mrP1xsKlbGz

3.39f¢ Q1 IH®Y B S b RTeR & d g SIS fos 3 By
Faty 8id &

° Watch Video Solution

4. A line cuts two sides AB and AC of AABC at points P

A(AAPQ) AP x AQ
A(AABC) ~ AB x AC’

and @ respectively. Prove

o Watch Video Solution

5. In AABC, E is the midpoint of the median AD. BE

1
produced meets AC at F'. Prove that AF = (§> AC

o Watch Video Solution



https://dl.doubtnut.com/l/_0mrP1xsKlbGz
https://dl.doubtnut.com/l/_TPtN9MK5T1H8
https://dl.doubtnut.com/l/_gIExx9RCponQ
https://dl.doubtnut.com/l/_nur571vshjQS

1. Base of a triangle is 9 and height is 5. Base of another
triangle is 10 and height is 6. Find the ratio of areas of these

triangles.

° Watch Video Solution

2. In the figure BC 1. AB,AD 1 AB,BC =4, AD = 8§,

A(AABC)
then find )
A(AADB)



https://dl.doubtnut.com/l/_hEUxikhBsEUA
https://dl.doubtnut.com/l/_a6pvWqViLOQq

D

o Watch Video Solution



https://dl.doubtnut.com/l/_a6pvWqViLOQq
https://dl.doubtnut.com/l/_Z9TQ4nNnGUlv

3.In the following figure set PS 1 seg RQset QT 1 set PR.

If RQQ = 6, PS = 6 and PR = 12, then find the QT.

P

° Watch Video Solution

4. In the following figure AP 1 BC, AD | | BC, then find

A(AABC): A(ABCD).


https://dl.doubtnut.com/l/_Z9TQ4nNnGUlv
https://dl.doubtnut.com/l/_NYYvs40xlVcT

[}
)

o Watch Video Solution

5. In the adjoining figure PQ 1| BC, AD 1 BC, then find

following ratios:



https://dl.doubtnut.com/l/_NYYvs40xlVcT
https://dl.doubtnut.com/l/_lxi5WSfmgdmp

_A(APQ@B) . A(APBC)

“A(APBC) " A(AABC)
iy ABABO)  A(AADC)
1 v

A(AADC) " A(APQOC)

° Watch Video Solution

6. Given below are some triangles and lengths of line
segments. Identify in which figures, ray PM is the bisector of

/QPR.


https://dl.doubtnut.com/l/_lxi5WSfmgdmp
https://dl.doubtnut.com/l/_tYk4XsRAhuRn

o Watch Video Solution



https://dl.doubtnut.com/l/_tYk4XsRAhuRn

7.In APQR, PM = 15, PQ) = 25, PR = 20, NR = 8. State

whether line NM is parallel to side RQ or not. Given Reason.

o Watch Video Solution

8 In AMNP,NQ is a bisector of ZN. If

MN =5, PN =7, MQ = 2.5, the find QP.


https://dl.doubtnut.com/l/_tYk4XsRAhuRn
https://dl.doubtnut.com/l/_XPifnAZKkogv
https://dl.doubtnut.com/l/_0D41GeDu0uQB

(®,

o Watch Video Solution

9. Measures of some angles in the figures are given. Prove

AP AQ

that s = oC



https://dl.doubtnut.com/l/_0D41GeDu0uQB
https://dl.doubtnut.com/l/_usXpcoS7gLCB

600

600

o Watch Video Solution

10. In trapezium ABCD side AB || side PQ || side

DC, AP = 15, PD = 12, QC = 14, find BQ.


https://dl.doubtnut.com/l/_usXpcoS7gLCB
https://dl.doubtnut.com/l/_GDyYYbsTYRJN

/ N

D C

o Watch Video Solution

11. Find QP using given information in the figure.

M

25

° Watch Video Solution



https://dl.doubtnut.com/l/_GDyYYbsTYRJN
https://dl.doubtnut.com/l/_XzyBRuya5Y5g

12.In the figure if AB||CD||FE then find x and AE.

o Watch Video Solution



https://dl.doubtnut.com/l/_OQedkP2fXtsz

13.In ALMN, ray MT bisects ZLMN.If LM = 6, MN = 10.

TN = 8 then find LT.
L

o Watch Video Solution

14. In AABC set BD bisects /ABC. If

AB—2z,BC =z +5,AD =x — 2, DC = x + 2, then find


https://dl.doubtnut.com/l/_kJ9FCC4FJzjq
https://dl.doubtnut.com/l/_6G1y7QY9scqW

the value of x.

B x+5 C

o Watch Video Solution

15.In the figure X is any point in the interior of triangle. Point
X is joined to vertices of triangle. Seg PQ | | set DE, set

QR | | set EF. Fill in the blanks to prove that set PR | | seg


https://dl.doubtnut.com/l/_6G1y7QY9scqW
https://dl.doubtnut.com/l/_zPX6vfeQg3wn

DF.

o Watch Video Solution

16.In AABC'ray BD bisects ZABC and ray CE bisects ZACB

.If seg AB =2 seg AC, then prove that ED || BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_zPX6vfeQg3wn
https://dl.doubtnut.com/l/_Z6h0AAoue7sP

17. In the adjoining figure
BP 1 AC,CQ 1. AB,A— P —C,A— (@ — B, then prove
that AAPB and AAQC are similar.

A

° Watch Video Solution

18.In the figure ZABC = 75°
/EDC = T75°

State which two triangles are similar and by which test? Also


https://dl.doubtnut.com/l/_sFXxzgj8MYBd
https://dl.doubtnut.com/l/_NdkbSMGsN4lg

75°

15° %
B

write the similarity of these two triangles by a proper one to

one correspondence.

° Watch Video Solution

19. Are the triangles in following figures similar?

If yes by which test?


https://dl.doubtnut.com/l/_NdkbSMGsN4lg
https://dl.doubtnut.com/l/_4kBj62k71662

6 10 L
3 5
Q 8 R M 4 N

o Watch Video Solution

20. As shown in the figures, two poles of height 8m and 4m
are perpendicular to the groudn. If the length of shadow
smaller pole due to sunlight is 6 m then long will be the
shadow of the bigger pole of the same time?

A
d

P
/J4
Q 6 R B x

C


https://dl.doubtnut.com/l/_4kBj62k71662
https://dl.doubtnut.com/l/_BdXQkwiXKNQK

o Watch Video Solution

21.
AABC,AP | BC,BQ 1L AC.B—-P—-C,A—-Q—C,
then prove that ACPA~ACQB.

If AP =7, BQ = 8, BC = 12 then find AC.

A
Q

° Watch Video Solution



https://dl.doubtnut.com/l/_BdXQkwiXKNQK
https://dl.doubtnut.com/l/_S4kR6byVXXJW

22. Given: In trapezium PQRS, sides PQ || sides
SR, AR = 5AP, AS = 5AQ, then prove that SR = 5PQ).

P _Q

° Watch Video Solution

23. In trapezium ABCD side AB | | side DC, diagonals AC and

BD intersect In point O. If AB = 20, DC = 6, OB = 15 thn


https://dl.doubtnut.com/l/_tiFPYadpzrnK
https://dl.doubtnut.com/l/_5tWm7Ht42BkT

find OD.

o Watch Video Solution

24. [1 ABCD is a parallelogram point E is on side BC. Line DE

intersects ray AB in point 7. Prove that


https://dl.doubtnut.com/l/_5tWm7Ht42BkT
https://dl.doubtnut.com/l/_P8IESfsBYaej

DE x BE=CE x TE.

° Watch Video Solution

25. In the figure, set aC and seg BD intersect each other in

' AP BP
point P and CP — DP’ Prove that AABP~-ACDP.



https://dl.doubtnut.com/l/_P8IESfsBYaej
https://dl.doubtnut.com/l/_nRdBeP2n6NWZ

° Watch Video Solution

26. In the figure in AABC, point D on side BC is such that

/BAC = LZADC.


https://dl.doubtnut.com/l/_nRdBeP2n6NWZ
https://dl.doubtnut.com/l/_D5g4x1ExBvim

Prove that CA? = CB x CD.

A |

B D C

O Watch Video Solution

27.The ratio of corresponding sides of similar triangles is 3: 5,

then what is the ratio of their areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_D5g4x1ExBvim
https://dl.doubtnut.com/l/_nJfApTYxDbT5
https://dl.doubtnut.com/l/_AAiQZK5HI5jF

28. If A ABC-APQR and AB:PQ = 2:3, then fill in the

blanks

A(AABC) (AB) 22 O
A(APQR) O g2 O
A(AABC) AB* 22 4
A(APQR) PQ> 32 9

° Watch Video Solution

29. If AABC-APQR, A(AABC) = 80, A(APQR) = 125,

then fill in the blanks:
A(AABC) 8 AB O
AA...........) 125 " PQ O

° Watch Video Solution

30. ALMN-APQR, 9 x A(APQR) = 16 x A(ALMN). If

QR = 20, then find MN.


https://dl.doubtnut.com/l/_AAiQZK5HI5jF
https://dl.doubtnut.com/l/_AosgkgbA8u4A
https://dl.doubtnut.com/l/_LUOwXfI06drJ

O Watch Video Solution

31. Areas of two similar triangles are 225 sq cm and 81 sq cm. If
a side of the smaller triangle is 12 cm, then find the

corresponding side of the bigger triangle.

o Watch Video Solution

32. AABC and ADEF are equilateral triangles. If

A(AABC): A(ADEF) = 1:2and AB = 4, find DE.

o Watch Video Solution

33. In the figure seg PQ | | seg DE, A(APQF) = 20 units

PF = 2DPthen find A(QODPQE) by completing the


https://dl.doubtnut.com/l/_LUOwXfI06drJ
https://dl.doubtnut.com/l/_wmU3okEat211
https://dl.doubtnut.com/l/_dak4L0VEcOvg
https://dl.doubtnut.com/l/_Oeo5LNNzyXSD

following activity:

E Q F

Activity: A(APQF') = 20 sq units, PF' = 2DP.
Let us assume DP = ¢

.. PF =2z

DF=DF+ U =0+ 01 =3z

In AFDE and AFPQ.

/FDE =~ /1] .. (Corresponding angles)
/FED = /1] ...(Corresponding angles)

.. AFDE-AFPQ ...(AAtest)
A(AFDE) O (3z)°

9
AAFPQ) O (9?2 4

A(AFDE) = %A(AFPQ) = % x =01


https://dl.doubtnut.com/l/_Oeo5LNNzyXSD

A(ODPQE) = A(AFDE) — A(AFPQ)
=0-0

= U

° Watch Video Solution

34. In AABC and APQR in a one-to-one correspndence

AB _BC _CA
OR PR _PpQ "

A

A.APQR-AABC

B. APQR-ACAB


https://dl.doubtnut.com/l/_Oeo5LNNzyXSD
https://dl.doubtnut.com/l/_o8YejuK5XOpJ

C. ACBA-APQR

D. ABCA-APQR

Answer: B

o Watch Video Solution

35.If in ADEF and APQR, /D = /Q,. /R = /E, then

when of the following statements is false?

. EF _ DF
"PR  PQ
DE  EF

PQ RP



https://dl.doubtnut.com/l/_o8YejuK5XOpJ
https://dl.doubtnut.com/l/_Qj3CtaigKcVR

DE DF

C. =
QR  PQ
b EF B DFE
"RP QR
Answer: D

o Watch Video Solution

36. In AABC and ADEF/B=/E,/F =/C and
AB = 3DFE then which of the statements regarding the two

triangles is ture ?



https://dl.doubtnut.com/l/_Qj3CtaigKcVR
https://dl.doubtnut.com/l/_cG1KKsKKBxR7

A. The triangles are not congruent and not similar.

B. The triangles are similar but not congruent.

C. The triangles are congruent and similar.

D. None of the statements above is true.

Answer: B

° Watch Video Solution

37. AABC and ADEF are equilateral triangles,

A(AABC): A(ADEF) = 1:2


https://dl.doubtnut.com/l/_cG1KKsKKBxR7
https://dl.doubtnut.com/l/_Bc3877SchN4e

If AB = 4 then what is length of DE?

D

A 2,/2

B.4

C.8

D.4,/2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Bc3877SchN4e

38. In figure sex XY | | set BC, thwn which of the following

statements is true?

X

B

A AB  AX
"AC  AY
5 AX AY
"XB  AC
c AX AY
"YC XB
5 AB AC
"YC XB


https://dl.doubtnut.com/l/_AWhsi4qjwgxC

Answer: A

o Watch Video Solution

39.In AABC,B— D — C and BD = 7, BC = 20, then find

followig ratios:

A

[ 20 >

o Watch Video Solution



https://dl.doubtnut.com/l/_AWhsi4qjwgxC
https://dl.doubtnut.com/l/_phrklQw4G9qU

40. Ratio of areas of two triangles with equal height is 2: 3. If
base of the smaller triangle is 6 cm, the what is the

corresponding base of the bigger triangle?

o Watch Video Solution

41. In the figure

/ABC = /DCB = 90°, AB = 6, DC = 8,


https://dl.doubtnut.com/l/_phrklQw4G9qU
https://dl.doubtnut.com/l/_5pkxsSrmBE9J
https://dl.doubtnut.com/l/_asFwNhRs7bDd

A(AABCQC)

then —— =7
A(ADCB)
D
A
8
6
B C
° Watch Video Solution
42. In the figure

PM = 10cm, A(APQS) = 100sgcm, A(AQRS) = 110sq. cm,


https://dl.doubtnut.com/l/_asFwNhRs7bDd
https://dl.doubtnut.com/l/_w4IPvxKL8xh8

then find NR.

P

° Watch Video Solution

43. AMNT-AQRS. Length of altitude drawn from point T is

5 and length of altitude drawn from point S is 9. Find the ratio

A(AMNT)
A(AQRS)

° Watch Video Solution



https://dl.doubtnut.com/l/_w4IPvxKL8xh8
https://dl.doubtnut.com/l/_WxEfvEgMmSyF

44.In the figure A— D — Cand B — E — C seg DE | | side
AB.If AD = 5, DC = 3, BC = 6.4 then find BE.

A

B x E 64-x C

° Watch Video Solution

45. In the adjoining figure, seg PA , seg QB, seg RC and seg SD

are perpendicular to line AD. AB = 60, BC = 70, CD = 80, PS =


https://dl.doubtnut.com/l/_WcS2gnHNw0qH
https://dl.doubtnut.com/l/_5hKEv7sQiVzC

280, then find PQ, QR and RS.

P A

o Watch Video Solution



https://dl.doubtnut.com/l/_5hKEv7sQiVzC

W M w R
46. Q
In APQR seg PM is a median. Angle bisectors of ZPM( and
/ZPMR interesect side PQ and side PR in points X and Y

respectively. Prove that XY | | QR.

Complete the proof byfilling in the boxes:

o Watch Video Solution

47.In the figure bisectors of /B and ZC of AABC intersect

each other in point X. Line AX intersects side BC in pont Y.


https://dl.doubtnut.com/l/_EepOnviDA5x4
https://dl.doubtnut.com/l/_KabXguKltipJ

AX
AB =5, AC = 4, BC = 6 then find Z—

o Watch Video Solution

48.In J ABCD, seg AD | | seg BC. Diagonal AC and digonal

BD intersect each other in point P. Then show that


https://dl.doubtnut.com/l/_KabXguKltipJ
https://dl.doubtnut.com/l/_lRRQUJb1sOxp

PD BP’

° Watch Video Solution

49. In figure XY | | seg AC. If 2AX = 3BX and XY =9,

complete the activity to find the value of AC.


https://dl.doubtnut.com/l/_lRRQUJb1sOxp
https://dl.doubtnut.com/l/_EO8mLVkTUfgO

B Y C

Activity: 2AX = 3BX

CAx 0O
"BX O
CAX+BX O+ 0 5 J
S BX = R (By componendo)
~AB O 1
.. BX — |:| .............
ABCA-ABY X.....( 0 test of similarity)
~BA AC
"BX XY
.............. (Corresponding sides of similar triangles)
0o AC
O 9
LAC = O .. [From 1]

o Watch Video Solution



https://dl.doubtnut.com/l/_EO8mLVkTUfgO

50. In figure, the vertices, of square DEFG are on the sides of

AABC. /A = 90°.Then prove that DE?> = BD x EC.
A

o Watch Video Solution

Challenging Questions

1..In O ABCD, side AB =~ side AD. Bisector of ZBAC cuts

side BC at E and bisector of ZDAC cuts side CD at F. Prove


https://dl.doubtnut.com/l/_EO8mLVkTUfgO
https://dl.doubtnut.com/l/_M8aTV6aPgmR8
https://dl.doubtnut.com/l/_n5wCMLqH1FVD

that set EF' | | seg BD.

D
A x
B E

o Watch Video Solution

F

2. A line cuts two sides AB and AC of AABC at points P

A(AAPQ) AP x AQ

and @ respectively. Prove A(AABC) = AB < AC"

o Watch Video Solution



https://dl.doubtnut.com/l/_n5wCMLqH1FVD
https://dl.doubtnut.com/l/_nkFvtSyyiT1D

3. In AABC,L,M, Nare points on side
respectively.
Perpendiculars drawn at LLM,N form APQR.

Prove that AABC~APRQ.

A

B M C

AB,BC,AC

o Watch Video Solution



https://dl.doubtnut.com/l/_FDvgpVV50sdu

4. [1 ABCD is a parallelogram. P is the midpoint of side CD.
Seg BP meets diagonal AC at X. Prove that 3AX = 2AC.

A D

° Watch Video Solution

5.Points S is on the side PR of APMR such that 3SR = 2S5P

, set ST | | side PM. If A(APMR) = 50ecm? then find (i)


https://dl.doubtnut.com/l/_7Z89erqZcejQ
https://dl.doubtnut.com/l/_PfyxwslmcRCr

A(ARST) (i) A(O PMTS)

P

o Watch Video Solution

6. In the same figure, AABC and ADBC are on the same

base BC . If AD is intersects BC at O, prove that


https://dl.doubtnut.com/l/_PfyxwslmcRCr
https://dl.doubtnut.com/l/_jW9uoTDuIDnD

ar(AABC)  AO
ar(ADBC) DO

D

o Watch Video Solution



https://dl.doubtnut.com/l/_jW9uoTDuIDnD

7.In AABC and APQR, /ABC =~ ZPQR eg BD and seg

QS are angles bisectors . If
[(AD) I(DC)

(PS) I(SR)
' (##NVT 21 MAT P2 X_C09 EO1 002 SO1.png" width="80%">

then AABC-APQR

° Watch Video Solution

8. O is any point in the interior of AABC. Bisectors of
ZAOB, BOC and AOC intersect sideAB, side BC, side AC in

F,D and E respectively.


https://dl.doubtnut.com/l/_nkBzZcKhLr3e
https://dl.doubtnut.com/l/_TzOjpKDntOL9

Prove that BF x AE x CD = AF x CE x BD.

o Watch Video Solution

AB ...
1.AABC~ADEF, then BDE jola

A.AC

B. DF

C.BC


https://dl.doubtnut.com/l/_TzOjpKDntOL9
https://dl.doubtnut.com/l/_L0I8QIojcrJK

D. None of these

Answer: C

° Watch Video Solution

2. In the figure BD =8, BC =12 and B — D — C then

A(AABD)
AAADT) ~
A
B 8 D C
— 12 ~|

Al:2



https://dl.doubtnut.com/l/_L0I8QIojcrJK
https://dl.doubtnut.com/l/_ZZcQrYhjTBZk

B.2:1

C.2:3

D.3:2

Answer: B

o Watch Video Solution

3. In the figure ray QS is the bisector of /PQR and

PO = QR, then L2
= N —— = .veeeeeee
) HNeN “op


https://dl.doubtnut.com/l/_ZZcQrYhjTBZk
https://dl.doubtnut.com/l/_qyMOn00fVAdi

Al:1

B.1:2

C.2:1

D. Cannot be determined

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_qyMOn00fVAdi

4. In the figure for what value of x will seg DE be parallel to

Bc?

A2

B.3

C. 20

D.2 and 20

Answer: A

° Watch Video Solution

5. A vertical pole 40 m long casts a shadow 20 m long on the

ground. At the same time a........... Tower casts a shadow 50 m


https://dl.doubtnut.com/l/_qyMOn00fVAdi
https://dl.doubtnut.com/l/_nQh6qMkEfY3A
https://dl.doubtnut.com/l/_WDZqKlEhvxq4

long on the ground.

A.100m

B. 50m

C.25m

D.150 m

Answer: A

o Watch Video Solution

6. Sides of two similar triangles are in the ratio 3: 5, Areas of

these triangles are in the ratio..

A. 1.0479166666667

B. 0.12847222222222


https://dl.doubtnut.com/l/_WDZqKlEhvxq4
https://dl.doubtnut.com/l/_yWIFUIoiop6M

C. 0.39236111111111

D. 0.21041666666667

Answer: C

o Watch Video Solution

7. The areas of two similar triangles are 36cm? and 121cm?.
The ratio of their corresponding sides are

A.36:121

B.121:36

C.6:11

D.11:6

Answer: C


https://dl.doubtnut.com/l/_yWIFUIoiop6M
https://dl.doubtnut.com/l/_jXueG4hi7Bhz

o Watch Video Solution

8.f AABC~ADEF and LA = 45°, /FE = 87°, then /C =

A.45°

B.8&7°

C.48°

D. Cannot be determined

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jXueG4hi7Bhz
https://dl.doubtnut.com/l/_nieTWbtBCUoG

9.1n a ABC , AD is the bisector of ZBAC .If AB = 8&m ,

BD = 6em and DC = 3em . Find AC 4em (b) 6em (c) 3em

(d) 8&m

A. 4cm

B.3cm

C. 6cm

D. 8cm

Answer: A

o Watch Video Solution

10. In the figure

LAED = /ABC,AD = 3, DB =5, AE = 4 then length


https://dl.doubtnut.com/l/_e9foFNmzaOTq
https://dl.doubtnut.com/l/_ytaPOSERM9xC

of ACis ..

A2

B.6

C.8

D.12


https://dl.doubtnut.com/l/_ytaPOSERM9xC

Answer: B

o Watch Video Solution

11. The areas of two similar triangles are 9cm? and 16¢m?. The
ratio of their correspoinding heights is.

A. 0.38611111111111

B.0.12777777777778

C. 016875

D. 0.67291666666667

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ytaPOSERM9xC
https://dl.doubtnut.com/l/_hl51oWvV11jG
https://dl.doubtnut.com/l/_jA9nNGSPswvf

12. Which of the following is not the test of similarly : AAA

test, SAS test, ASA test, SSS test?

A. AAA test

B. SAS test

C. SAA test

D. SSS test

Answer: C

° Watch Video Solution

13. The corresponding medians of two similar triangles are in

the ratio 4:7. Let their respective areas be A; and

A2. Al : A2 = ..


https://dl.doubtnut.com/l/_jA9nNGSPswvf
https://dl.doubtnut.com/l/_UqT316QqM6kg

A.0.70069444444444

B. 0.17152777777778

C.0.29444444444444

D. 2.0527777777778

Answer: A

o Watch Video Solution

14.In the figure line AD | | line BE | | line CFgt

AB =8, BC = 4, DE = 6then EF = ?


https://dl.doubtnut.com/l/_UqT316QqM6kg
https://dl.doubtnut.com/l/_adSpMg16EPEb

A

A3

B.12

C.8

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_adSpMg16EPEb
https://dl.doubtnut.com/l/_R6od3Axg9i16

15. If two similar triangles are of equal areas, then the two

triangles are ....

A. similar but not congruent

B. similar and congruent

C. neither similar nor congruent

D. none fo the above

Answer: B

o Watch Video Solution

Subjective Type



https://dl.doubtnut.com/l/_R6od3Axg9i16

1. The heights of AABC and ADBC are 4 cm and 6 cm

A(AABC)

tively. Find ———.
respectively. Fin A(ADBC)

o Watch Video Solution

2.In APQR, ray PS is the bisector of ZQPR.

Q—S5—R.IfQS =4.8cm, SR = 3.6¢cm then find PQ: PR.

o Watch Video Solution

3. If AABC-AEDC, AC = 15, BC = 10, CE = 12, then

find CD.

o Watch Video Solution



https://dl.doubtnut.com/l/_1erPqlIGGzYm
https://dl.doubtnut.com/l/_oYw49r6x5Fab
https://dl.doubtnut.com/l/_NKP3T0KvomiG
https://dl.doubtnut.com/l/_TcPAt4N9EISt

4, AABC~-APQR. If AB: PQ = 4:5, find

A(AABC): A(APQR).

O Watch Video Solution

5. The ratio of the areas of two triangles A;: Az is 3:2. The
corresponding bases are b; and bs. The height of the triangles

are equal. If by = 12cm. Find b;.

o Watch Video Solution

6. In the figure lien PQ | | side

BC, AP = 2.4cm, PB = 7.2cm, QC = 5.4cm then find AQ


https://dl.doubtnut.com/l/_TcPAt4N9EISt
https://dl.doubtnut.com/l/_Ic81RAfyY2jr
https://dl.doubtnut.com/l/_HbgdyWeeasy8

72 5.4

o Watch Video Solution

7. AABC-ADEF, BC = 4.8cmEF = 7.2cm. Complete the

following activity to find A(AABC): A(ADEF).
Activity:

AABC-ADEF
A(AABC)  BC?

A(ADEF) [

..... Theorem on _


https://dl.doubtnut.com/l/_HbgdyWeeasy8
https://dl.doubtnut.com/l/_DHpBEFm4VQOx

A(AABC) 48’
" A(ADEF)  (O)?
A(AABC) 4

" A(ADEF) O
A(AABC): A(ADEF) = 4: O

o Watch Video Solution

8.In AABC, D is the midpoint of side AB. Line DE | | side BC.

A — E — C. Prove that pont E is the midpoint of side AC.

o Watch Video Solution



https://dl.doubtnut.com/l/_DHpBEFm4VQOx
https://dl.doubtnut.com/l/_g0SSO2aB8KYR

A

p Y K
9.

In the figure seg SP 1 side YK, and seg Yt | side SK. If
SP=6,YK=13,YT =5 and TK =12, thenfidn

A(ASYK): A(AYTK).

o Watch Video Solution

10. Line m intersects sides AB and AC of AABC in the points

P and Q respectively.
AP =42, PB = 6.3, AQ = 4, QC = 6. State with reason

whether line m is parallel to side BC or not.


https://dl.doubtnut.com/l/_MNEF1OIDgYen
https://dl.doubtnut.com/l/_bmeyShzMZApd

o Watch Video Solution

1. In trapezium PQRSside PQ | | sideSR. Diagonals PR
and QS intersect each other at point M. PQ) = 2RS. Prove

that PM = 2RM and QM = 25M.

o Watch Video Solution

12. In the figure D is a point on BC such that
/ABD = /CAD. If AB =b5cm,AD = 4cm and

AC = 3cm. Find (i) BC (ii) DC (iii) A(AACD): AIABCA).

o Watch Video Solution



https://dl.doubtnut.com/l/_bmeyShzMZApd
https://dl.doubtnut.com/l/_S1W4puwy7Q1z
https://dl.doubtnut.com/l/_pMnW9p35eMCc

13.In the figure,set DH 1 side EF and seg GK 1 side EF. If
DH = 12¢m, GK = 20 and A(ADEF) = 300cm?.
Find (i) EF(ii) A(AGEF) (iii) A(O DEGF).

D

O~
T

° Watch Video Solution

14. Two triangles are similar. The lengths of the sides of the

smaller triangle are 4cm, 5¢cm and 6ecm respectively. The


https://dl.doubtnut.com/l/_RZccjt1xAwpY
https://dl.doubtnut.com/l/_4GhrnPXsySFK

perimeter of the larger triangle is 90cm then find the length

of sides of larger triangle.

° Watch Video Solution

15. Bisector of /B and ZC in AABC meet each other at P.

Line AP cuts the sides BC at Q.


https://dl.doubtnut.com/l/_4GhrnPXsySFK
https://dl.doubtnut.com/l/_slUfKASknble

AP  AB+ AC

Prove:

PQ BC

o Watch Video Solution

16. In AABC seg MN | | side AC. Seg MN divides AABC

MB
AB’

into two parts equal in area. Determine

o Watch Video Solution



https://dl.doubtnut.com/l/_slUfKASknble
https://dl.doubtnut.com/l/_WvpS7PvoVmTk

17. 3¢ @ FH®Y RS & AFhed RTeR & ) g Difav fos 3 B
Tahrag gid &

o Watch Video Solution

18. In the figure sides AB,BC,CA of AABC are produced upto
points R,PF respectively such that AB = BR, BC' = C'P and

CA = AF.Prove that:


https://dl.doubtnut.com/l/_WvpS7PvoVmTk
https://dl.doubtnut.com/l/_5ZaBlvS53qeW
https://dl.doubtnut.com/l/_cRJuFP9MZnxi

(APFR) = TA(AABC)

o Watch Video Solution

19.In 0 ABCD ,side BC | | side AD. Digonals AC and BD
1
intersect each other at P. If AP = gAC then prove

1
DP = EBP'



https://dl.doubtnut.com/l/_cRJuFP9MZnxi
https://dl.doubtnut.com/l/_F2NkKjQalmwr

| o Watch Video Solution

20.In APQR, set XY | | sides QR, M and N are midpoints of
seg PY and seg PR respectively. Prove that:

(i) APXM-~APQN (ii)segXM | | secQN.

P



https://dl.doubtnut.com/l/_F2NkKjQalmwr
https://dl.doubtnut.com/l/_KeXeqFtE03zP

l & Watch Video Solution



https://dl.doubtnut.com/l/_KeXeqFtE03zP

